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@ gﬁmmmmm ) : [ s /
b :ta)ﬁ'&mﬂfiﬁ(’ -
8 EEEREIEA( :
w; {ﬁ:@u-f«t)ma::kmmmﬁ(' )
&+ E#RE L= _1.0 Im : *
MR R DRSS hd=[_ 216 |m
iEL R ORMGKIKER rd= 180 kN/m® .
MR D OREAER pda=[_ 30 |
+EARECLEEOGTAE aw=__ 0 1

mERgs o=[_20 | (2/3¢)

FTUH | Tw | LE&H
w wd Pd

° KN/m kN/m

55. 00 29. 43 12. A8

. F 7N
57. 00 27. 30 12.48
TEEAN pd= [ 12 49]kN/m
EKEAR . Pdh=Pd-cos{a+8) =12 49X cos (20,00° )=[__11.74]kN/m
LEHRESD Pdv=Pd-sin(a+8) =12 49Xsin(20.00° }=[___ 4.27|kN/m
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DBAOHLIZLDEE .
RITCEUE (P LBLE) CRYR DL,
(FAUREHNRA FL ATRY2EE)

W esinfw—8)
T cosfw— 6 —a—0) g
e A
) HEAY Ay (' .
; ':"‘\ | . \./-—“h \ da el M
;...:.if in-\’r{.\\’i MEE
bt by W <UD ER (KN m) Bl 7 alg s

PiEESHNAm)
¢GERTEAEBORTAC )
8T YL EICHEH BT YA )
SRR )
wilRELETRUBEARFEOHTAC )
RFELERRE B=_10 |m_
EANLEE d=[_ 50 m
- B =216 m
TEERATE dh=[__50 |m
T2 EHOMGFRER ru=[__790 kW’
ERAHLHOABERA du=[__30 J°
*EGAELSEEOLTRAE o=["102 | = [ _-uzl
MEMREG S=[__0 ] (2/3¢)
PYLTORERA 6'=[__30_ |° (fix&E : A=0)

wurmosE =105 | = [_ea)

LEAN Pud= [ 78.64KN/n
tEREH Pudh=Pud-cos{a+§)=78.64Xcos(8. 73 }=[___77.13|kN/m
FESEH Pudv=Pud-sin(a+§)=78.64xsin(8 78 )=[__ 1L 93JkN/n
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5. R LEROREERE

e | T EL.Om7b
Ba  Hw= [ 800 7
‘ B §
FIHIE b= R 111 J
1)
LSRR = 1500 !
memE® a=1 [___L80 g |
o o=t [_0N) /
N
Eirwtmdan= [_EQ0m .
Mgt WOREShd= [ _LI6m
ELZE%:WT‘;:HE Ho= [ 1m
KII5Te HE 77 Pdh= SvsY—~tOME  ye= [ 27 Ove®
SREH L 7 Pav= MEORE  vd= [ T8 Oiv/m®
Fiaht .
KA Pudh= FrOIOEE  yu= [ 79 Ofu/m®
SO HE S Pudv= ' BSOS o= [ 0 00N/
ARG 1 = HMOFEXRHAE  q= [ 0lewnt
ABIDLL o= weig B= [ 290
DFEHR
. H | v _[#pe#] ™
B kN kN m kN'm
oS B |We RIASE - 198.38| x=2.01 399.17
+FE |Pdh 4.1 m 1.74 |- y=5.39 ~63.24| °
Py 4.1)HHE - 4.21]  x350 14.95
Pudh 4. 2)H g 77.73 - y=187 | -129.81
Pudv 4.2 &R - 11.93 x=2.563 31.42
& (X)) 89,47 214,58 262.49
VREHK
M 252.49
DI 5% d = T
TV 214.58
le | =B/2-d=2.30,2—118=[___ 0.03|m sBn=__ _07m
] T e OK
OB aREN -
@ X EV+Cql 0,60 214.58+0.00 % 2.30
Fs z
SH sed7 T T T e OK
)5 2o Tl b o p o =i
el = 003 s 0385 =B/6LDEWSTERD
v 6e 214.58 6%0,03
ql=——(1+—) = (14 )= C—ms = [ 450kN/m2
B B 2.30 2,30 e QK
TV Be 214.58 60,03
qZ=—— (1 ) (1 = s s [ adlevme
" B B 2,30 2,30 , v 0K
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4) BROMK
HTE1.0m7zh

b5 Hw= m
SIS b= C 50
LA SR hu= C350m
FHEOR o=1: [__ 060
BEAR o=1 [ 0730
Fwaot#dh= [ B 00lm
TEMESE® Hrhu= [ £.50 |m
R B= [ 280
aU—bOEE  ve= | 27 OkN/nd

s ko THREYT 5.
1
4 =L s-non)

G, = —%E (stu-x ]{.t,z + ;-(x, PR 2x,]}

1 i :
G =z 2% —x.][y.’ RS e +2y.]}
G
=t
% 4 ¥ 1 2
.G
= )
3
4
0 5 -

o, x(m) y(m) A G, Gy

0 0.000 0.000 0.000 -9.000 18.000

\ 3.000 6.000 1.500 0.000 9,000

2 3.500 6.000 2.625 $.188 0,000

3 3.500 4.500 -0.675 0.000 -3.038

4 3,200 4.500 5175 17.168 -3,038

5 2,300 0000 | 0000 0.000 0.000

] 0,000 0.000 - - -

£ B.625 17.355 20.925

K We= 198.38[kN/m

b CPEOA o x, =Cyld= 201 m

Yo =Cixlid= 243 m
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